The calculation is base on follow conditions:

sea water temperature: -3 [° C]

ambient air temperature:-20 [° C]

Atmospheric pressure: 100 [Kpa]

According to calculation a boiler capacity of 2000kg/h is enough
for vessel 1bc005° 008
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Note:f—Loading coefficient(%), C—Continous heating, |—Interrupted heating
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3 |H.F.O. PURIFIER / 2 0.7 169 /1100 1 (100 |100 1 100 |100 1 100 |100 1 100 |100 < g
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4 |L.O. PURIFIER (M/E) / 1 0.7 169 [ |52 1 |100 |52 1 100 |52 1 35 18.2 |1 35 18 5 B
5 [L.O. PURIFIER(G/E) / 1 0.7 169 [ 140 1 [100 |40 1 100 |40 1 100 |40 1 100 |40 « ,§
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PUAEAEAE 2V FE R Steam consumption calculation
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1P S 0 [576.4] 1 | 0.7 | 169 |273.634)644.8] 1 [100 [645 1 |100 |645 1 |100 [645 1 |00 644.81 | ©
2 ot o |576.4] 1 | 0.7 | 169 [273.634]644.8] 1 [30 82.1[1 |30 82.1[1  [30 193 |1 |30 193.44| ©
3 [wesioisnn 47.8| 1 | 0.7 | 169 |88.4046]98. 34 1|30 29. 503 %
4 [poomste gt | 12.5 | 1 | 0.7 | 169 |34.8169|77.89 1 [30 23.366 | S
5 [ ware  geroke | 26,2 1 | 0.7 | 169 | 19.816 [144.9] 1 |30 5.94 1 15 21.738 | 3
6 | Lo 1 26.7] 1 | 0.7 | 169 |28.5563|52.66] 1 [100 |52.7 1 |100 |52.7 1 |100 |52.7 1 100 52. 662 %
7l weoiime |26.7] 1 | 0.7 | 169 |33.511|58.59] 1 [100 [33.5 1 |10 [33.5 1 100 [33.5 1 |00 58.588 | 2
8 | 14.4| 1 | 0.7 | 169 |15.5338|41.82| 1 |30 4.66(1 100 [15.5 1 |30 15.6|1 |30 4.6601 | £
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